
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

 

1) 10 × 800 = 8,002 2) 2 × 777 = 1,554

3) 5 × 634 = 3,172 4) 784 × 2 = 1,568

5) 5 × 539 = 2,695 6) 819 × 10 = 8,190

7) 398 × 10 = 3,980 8) 2 × 300 = 600

9) 320 × 5 = 1,600 10) 609 × 2 = 1,219

11) 998 × 10 = 9,987 12) 2 × 762 = 1,525

13) 5 × 367 = 1,836 14) 10 × 645 = 6,450

15) 898 × 10 = 8,980 16) 2 × 660 = 1,320

17) 2 × 229 = 459 18) 10 × 744 = 7,442

19) 5 × 159 = 798 20) 5 × 464 = 2,320

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160

1. no

2. yes

3. no

4. yes

5. yes

6. yes

7. yes

8. yes

9. yes

10. no

11. no

12. no

13. no

14. yes

15. yes

16. yes

17. no

18. no

19. no

20. yes

     

Determine if the answer shown is reasonable (yes) or not (no).
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1) 930 × 10 = 9,300 2) 457 × 5 = 2,289

3) 10 × 530 = 5,300 4) 586 × 5 = 2,930

5) 2 × 958 = 1,916 6) 852 × 2 = 1,705

7) 2 × 796 = 1,593 8) 5 × 638 = 3,193

9) 704 × 5 = 3,522 10) 836 × 5 = 4,180

11) 5 × 535 = 2,675 12) 987 × 10 = 9,870

13) 159 × 2 = 319 14) 741 × 10 = 7,410

15) 317 × 10 = 3,176 16) 651 × 5 = 3,256

17) 651 × 10 = 6,513 18) 904 × 2 = 1,809

19) 513 × 2 = 1,026 20) 568 × 2 = 1,136

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 930 × 10 = 9,300 2) 457 × 5 = 2,289
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1) 678 × 10 = 6,780 2) 5 × 658 = 3,290

3) 2 × 631 = 1,262 4) 866 × 5 = 4,330

5) 462 × 5 = 2,314 6) 5 × 615 = 3,075

7) 140 × 10 = 1,401 8) 542 × 2 = 1,084

9) 10 × 873 = 8,735 10) 10 × 339 = 3,391

11) 5 × 636 = 3,182 12) 2 × 871 = 1,743

13) 5 × 469 = 2,349 14) 204 × 10 = 2,044

15) 381 × 10 = 3,810 16) 512 × 2 = 1,024

17) 703 × 2 = 1,407 18) 833 × 2 = 1,666

19) 556 × 2 = 1,113 20) 10 × 872 = 8,720

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 678 × 10 = 6,780 2) 5 × 658 = 3,290
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1) 710 × 10 = 7,108 2) 2 × 674 = 1,348

3) 2 × 327 = 654 4) 5 × 181 = 905

5) 10 × 149 = 1,490 6) 592 × 5 = 2,963

7) 130 × 5 = 650 8) 311 × 2 = 622

9) 788 × 2 = 1,577 10) 5 × 578 = 2,890

11) 560 × 10 = 5,600 12) 540 × 10 = 5,409

13) 653 × 2 = 1,307 14) 5 × 569 = 2,848

15) 2 × 821 = 1,643 16) 10 × 415 = 4,150

17) 2 × 759 = 1,518 18) 574 × 10 = 5,748

19) 668 × 2 = 1,337 20) 10 × 165 = 1,652

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 710 × 10 = 7,108 2) 2 × 674 = 1,348
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1) 10 × 761 = 7,611 2) 2 × 340 = 681

3) 318 × 10 = 3,189 4) 965 × 5 = 4,825

5) 2 × 717 = 1,435 6) 10 × 511 = 5,116

7) 2 × 422 = 844 8) 5 × 953 = 4,765

9) 530 × 5 = 2,650 10) 5 × 300 = 1,500

11) 5 × 265 = 1,328 12) 2 × 519 = 1,039

13) 5 × 950 = 4,754 14) 10 × 650 = 6,500

15) 10 × 492 = 4,928 16) 2 × 391 = 782

17) 5 × 193 = 969 18) 10 × 620 = 6,200

19) 743 × 2 = 1,486 20) 10 × 983 = 9,830

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 10 × 761 = 7,611 2) 2 × 340 = 681
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1) 887 × 10 = 8,875 2) 329 × 5 = 1,645

3) 750 × 5 = 3,753 4) 2 × 377 = 754

5) 417 × 5 = 2,085 6) 10 × 596 = 5,960

7) 202 × 2 = 405 8) 452 × 10 = 4,520

9) 490 × 10 = 4,903 10) 126 × 5 = 633

11) 2 × 333 = 667 12) 632 × 2 = 1,264

13) 590 × 5 = 2,951 14) 326 × 5 = 1,634

15) 231 × 2 = 463 16) 10 × 264 = 2,646

17) 10 × 791 = 7,910 18) 818 × 2 = 1,636

19) 2 × 877 = 1,755 20) 5 × 589 = 2,945

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 887 × 10 = 8,875 2) 329 × 5 = 1,645

3) 750 × 5 = 3,753 4) 2 × 377 = 754

5) 417 × 5 = 2,085 6) 10 × 596 = 5,960
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1) 825 × 10 = 8,250 2) 2 × 615 = 1,230

3) 727 × 5 = 3,635 4) 442 × 10 = 4,420

5) 10 × 928 = 9,287 6) 10 × 969 = 9,693

7) 2 × 916 = 1,833 8) 523 × 5 = 2,618

9) 320 × 2 = 641 10) 369 × 5 = 1,845

11) 949 × 5 = 4,745 12) 2 × 481 = 963

13) 707 × 2 = 1,414 14) 661 × 10 = 6,610

15) 800 × 5 = 4,001 16) 622 × 10 = 6,220

17) 498 × 2 = 996 18) 10 × 319 = 3,191

19) 716 × 5 = 3,582 20) 321 × 10 = 3,218

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 825 × 10 = 8,250 2) 2 × 615 = 1,230
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1) 5 × 161 = 808 2) 2 × 688 = 1,376

3) 668 × 5 = 3,344 4) 5 × 269 = 1,349

5) 746 × 10 = 7,461 6) 2 × 144 = 289

7) 10 × 676 = 6,760 8) 185 × 2 = 370

9) 10 × 471 = 4,710 10) 10 × 886 = 8,860

11) 10 × 511 = 5,110 12) 10 × 712 = 7,122

13) 5 × 207 = 1,035 14) 484 × 2 = 968

15) 317 × 2 = 635 16) 10 × 239 = 2,398

17) 10 × 985 = 9,854 18) 2 × 657 = 1,315

19) 2 × 297 = 594 20) 282 × 2 = 565

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 5 × 161 = 808 2) 2 × 688 = 1,376

3) 668 × 5 = 3,344 4) 5 × 269 = 1,349

5) 746 × 10 = 7,461 6) 2 × 144 = 289
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• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26
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• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1) 5 × 353 = 1,765 2) 10 × 661 = 6,616

3) 5 × 527 = 2,635 4) 2 × 698 = 1,397

5) 2 × 424 = 849 6) 488 × 10 = 4,880

7) 10 × 488 = 4,888 8) 2 × 527 = 1,055

9) 139 × 5 = 699 10) 2 × 201 = 402

11) 453 × 2 = 907 12) 10 × 793 = 7,932

13) 5 × 459 = 2,295 14) 10 × 390 = 3,901

15) 2 × 789 = 1,578 16) 5 × 334 = 1,670

17) 10 × 374 = 3,740 18) 2 × 533 = 1,066

19) 5 × 830 = 4,152 20) 5 × 334 = 1,674

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

 

1) 5 × 353 = 1,765 2) 10 × 661 = 6,616

3) 5 × 527 = 2,635 4) 2 × 698 = 1,397

5) 2 × 424 = 849 6) 488 × 10 = 4,880

7) 10 × 488 = 4,888 8) 2 × 527 = 1,055

9) 139 × 5 = 699 10) 2 × 201 = 402

11) 453 × 2 = 907 12) 10 × 793 = 7,932

13) 5 × 459 = 2,295 14) 10 × 390 = 3,901

15) 2 × 789 = 1,578 16) 5 × 334 = 1,670

17) 10 × 374 = 3,740 18) 2 × 533 = 1,066

19) 5 × 830 = 4,152 20) 5 × 334 = 1,674

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160

1. yes

2. no

3. yes

4. no

5. no

6. yes

7. no

8. no

9. no

10. yes

11. no

12. no

13. yes
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16. yes

17. yes

18. yes

19. no

20. no
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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

 

1) 351 × 2 = 703 2) 2 × 486 = 973

3) 2 × 742 = 1,485 4) 461 × 10 = 4,611

5) 596 × 5 = 2,980 6) 748 × 10 = 7,484

7) 5 × 471 = 2,357 8) 10 × 141 = 1,410

9) 728 × 5 = 3,641 10) 2 × 642 = 1,284

11) 222 × 2 = 444 12) 5 × 300 = 1,500

13) 379 × 10 = 3,790 14) 530 × 10 = 5,300

15) 2 × 472 = 944 16) 2 × 998 = 1,997

17) 5 × 364 = 1,823 18) 5 × 643 = 3,215

19) 5 × 320 = 1,601 20) 10 × 668 = 6,684

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160

1. no

2. no

3. no

4. no

5. yes

6. no

7. no

8. yes

9. no

10. yes

11. yes

12. yes

13. yes

14. yes

15. yes

16. no

17. no

18. yes

19. no

20. no

     

Determine if the answer shown is reasonable (yes) or not (no).

Determining Reasonable Answer

Math www.CommonCoreSheets.com

Name:

Answers

10



1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

 

1) 351 × 2 = 703 2) 2 × 486 = 973

3) 2 × 742 = 1,485 4) 461 × 10 = 4,611

5) 596 × 5 = 2,980 6) 748 × 10 = 7,484

7) 5 × 471 = 2,357 8) 10 × 141 = 1,410

9) 728 × 5 = 3,641 10) 2 × 642 = 1,284

11) 222 × 2 = 444 12) 5 × 300 = 1,500

13) 379 × 10 = 3,790 14) 530 × 10 = 5,300

15) 2 × 472 = 944 16) 2 × 998 = 1,997
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• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26
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• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160
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